ORIGINAL

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 October 2008 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 31938	API No. 15 - 15-097-21647-00-00
Name: Indian Oil Co., Inc.	Spot Description:
Address 1: PO Box 209	NE_NE_SW_Sec. 18 Twp. 27 S. R. 16 East West
Address 2: 2507 SE US Hwy 160	2310 Feet from North / South Line of Section
City: Medicine Lodge State: KS zip: 67104 +	2310 Feet from East / West Line of Section
Contact Person: Anthony Farrar	Footages Calculated from Nearest Outside Section Corner:
Phone: (620) 886-3763	□NE □NW □SE ☑SW
CONTRACTOR: License # 5822	County: Kiowa
Name: Val Energy, Inc.	Lease Name: Davis Well #: 3-18
Wellsite Geologist: Scott Alberg	Field Name: Vod
Purchaser:	Producing Formation: Not Completed
Designate Type of Completion:	Elevation: Ground: 2111 Kelly Bushing: 2121
✓ New Well Re-Entry Workover	Total Depth: 4760 Plug Back Total Depth: 4745
Oil SWD SIOW	Amount of Surface Pipe Set and Cemented at: Feet
	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
CM (Coal Bed Methane) Temp. Abd.	If yes, show depth set: Feet
Dry Other Waiting on completion (Core, WSW, Expl., Cathodic, etc.)	If Alternate II completion, cement circulated from:
If Workover/Re-entry: Old Well Info as follows:	feet depth to:w/sx cmt.
Operator:	Drilling Fluid Management Plan
Well Name:	(Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	Chloride content: Unknown ppm Fluid volume: 90 bbls
Deepening Re-perf Conv. to Enhr Conv. to SWD	Dewatering method used: Hauled
Plug Back:Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Docket No.:	Operator Name: Thoroughbred Associates L.L.C.
Dual Completion Docket No.:	Lease Name: Weldon License No.: 31514
Other (SWD or Enhr.?) Docket No.:	
11/4/2008 11/15/2008 none	Quarter Sec. 22 Twp. 32 S. R19 East
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Comanche Docket No.: 15-033-21256
Kansas 67202, within 120 days of the spud date, recompletion, workover or c of side two of this form will be held confidential for a period of 12 months if rec	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, onversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information quested in writing and submitted with the form (see rule 82-3-107 for confidenell report shall be attached with this form. ALL CEMENTING TICKETS MUST rm with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulate are complete and correct to the best of my knowledge.	the oil and gas industry have been fully complied with and the statements herein
Signature:	KCC Office Use ONLY
Title: V.P., Operations Date: 3/2/2009	Letter of Confidentiality Received
Subscribed and sworn to before me this 314 day of MAKEY	, If Denied, Yes Date:
TOMMI J. COX	
STATE OF KANSAS My Appt. Exp. 9-36-12	Wireline Log Received GENIEDE
	OIC Distribution
Date Commission Expires: 9-26-12	600Z 9 D XAM

Side Two

Operator Name: India	n Oil Co., Inc.		Lease I	Name: _	Davis		Well #: <u>3-1</u>	8
Sec. 18 Twp. 27		☐ East	County	Kiowa	a			
time tool open and clos	sed, flowing and shu s if gas to surface to	nd base of formations pe at-in pressures, whether est, along with final chart report.	shut-in pres	sure read	ched static level,	hydrostatic p	oressures, bottom	hole temperature, fluid
Drill Stem Tests Taken (Attach Additional S		✓ Yes No		√ Lo	og Formatio	n (Top), Dept	th and Datum	Sample
Samples Sent to Geolo	ŕ	☑ Yes ☐ No		Nam Heeb	e ner Shale		Top 3931	Datum -1809
Cores Taken		Yes ☑ No		Lansi			4098	-1976
Electric Log Run (Submit Copy)		Yes No		B/KC			4457	-2335
List All E. Logs Run:				Chero	okee Sand		4606	-2484
•	eated Parasit	v Miororogistivit	3.4	Missi	ssippian		4617	-2495
Dual Induction		y, Microresistivit	y,	Kinde	erhook Sand		4650	-2528
	•			Viola			4714	-2592
		CASING Report all strings set	G RECORD -conductor, su	✓ Ne urface, inte		on, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig Lbs.		Setting Depth	Type of Cemen		Type and Percent Additives
Surface	12 1/4	8 5/8	23		414	60:40	315	2% gel, 3% CC
Production	7-7/8	4 1/2	10.5		4760	60:40	289	4% gel, 5# kolseal,5% FL160
ند								
		ADDITIONA	L CEMENTII	NG / SQL	JEEZE RECORD	1		
Purpose: Perforate	Depth Top Bottom	Type of Cement	-	acks Used Type and Percent Additives			5	
Protect Casing Plug Back TD Plug Off Zone								
L								
Shots Per Foot	PERFORATI Specify	ON RECORD - Bridge Plu Footage of Each Interval Pe	igs Set/Type erforated				ement Squeeze Reco of Material Used)	rd Depth
none	none				none			
							, <u>,</u>	
TUBING RECORD:	Size:	Set At:	Packer A	t:	Liner Run:	Yes [] No	
Date of First, Resumed I	Production, SWD or En	hr. Producing Me	ethod:	Flowin	g Pumpii	ng 🔲 G	as Lift 🗹 Oth	ner (Explain)
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf	Wat	er B	bls.	Gas-Oil Ratio	Gravity
D10000777	DN OF CAS		METUCE		TION		BBCB11CT	ON INTERVAL
DISPOSITIO		_	METHOD OF		_		PRODUCTI	ON INTERVAL:
Vented Sold (If vented, Sub	_	Open Hole Other (Specify) _	Perf. [Not Comple	Dually eted	y comp. Cor	nmingled		



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: (785) 483-3887

Fax: (785) 483-5566

Indian Oil Co., Inc. P O Box 209

Medicine Lodge, KS 67401-0209

INVOICE

Invoice Number: 116946

Invoice Date: Nov 5, 2008

Page:

1

283.19

8,687.09

2 Customer ID	Well Name # or Customer P.O	Paymen	t Terms
Indian	Davis #3-18	Net 30	Days
JobiLocation	Camp Location	ு Service Date ஆச்ச	Due Date * 146
KS1	Medicine Lodge	Nov 5, 2008	12/5/08

N C

WARREST THE SERVICE OF THE SERVICE O	- Comment of Property Comments	Programme State of the State of	Dan Berthaman	
Quantity	- Item	Description	Unit Price	Amount
180.00	Ī	Class A Common	15.45	2,781.00
120.00	MAT	Pozmix	8.00	960.00
5.00	MAT	Gel	20.80	104.00
10.00	MAT	Chloride	58.20	582.00
315.00	SER	Handling	2.40	756.00
50.00	SER	Mileage 315 sx @.10 per sk per mi	31.50	1,575.00
1.00	SER	Surface	1,018.00	1,018.00
114.00	SER	Extra Footage	0.85	96.90
50.00	SER	Mileage Pump Truck	7.00	350.00
1.00	SER	Head Rental	113.00	113.00
1.00	EQP	Wooden Plug	68.00	68.00
		·		
			RECEIVED	
			MAR 1 7 2009	<u>.</u>
	:	· · · ·	KCC WICHITA	
		·		
ALL PRICES AI	RE NET, PAYABL	E Subtotal		8,403.90

Sales Tax

Total Invoice Amount

Payment/Credit Applied

ALL PRICES ARE NET. PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1.1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE



ALLIEL CEMENTING C.J., LLC. 32596

∠MIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

Madicino Losse ps

	·					
DATE 11-5-08	SEC. 18 TWP. 275	RANGE 16 W	CALLED OUT	ON LOCATION 2:00 pm	JOB START 7!00 pm	JOB FINISH 7.30 pm
LEASE Davis	WELL# 3-18	LOCATION HOU.	19n2 165, 51		COUNTY	STATE &
OLD OR NEW Cir	rcle one)	Winto				1,
CONTRACTOR	نداد امر		OWNED T	3'.	_	
TYPE OF JOB 5			OWNER 4	idion Ois		
HOLE SIZE 12		420	CEMENT			
CASING SIZE &		TH 414		RDERED 300	Se Coix	11:2+3%
TUBING SIZE	DEF			DERED	97 65 ,	
DRILL PIPE	DEF					
TOOL	DEF					
PRES. MAX	MIN	IIMUM	COMMON	180 A	@ 15.45	2781.00
MEAS. LINE	SHC	E JOINT	POZMIX	120		960.00
CEMENT LEFT IN	CSG. 15'		GEL	5		_104.00
PERFS.			CHLORIDE _	10		_582.0
DISPLACEMENT	25 bbls of	freshwerer	ASC_	·	_	
	EQUIPMENT				_ 	
PUMP TRUCK (CEMENTER DS.	. F		EIVED		
6 0	,					4,0,,,
BULK TRUCK	HELPER hewton	<i>D</i> :	MAR	1 7 2009	@	
	DRIVER LGrey F	- T.			@	
BULK TRUCK	KIVER -4/19 /	·Jr	- KCC	WICHITA	@	
	ORIVER				_ @	
н 1	JKI V EK		HANDLING_	315	@ 2.40	756.00
			MILEAGE	50 x 315 >	L.10	1575,00
	REMARKS:				TOTAL	6758.0
Pipe on be	stroum & bresk	Cucula tima				
Pump 3 hbl	s of fresh wa	der Cheab	_	SERVI	CF	
MIX 3005 0	of coment, s	hut down &				
relegge Dlug	Stert Espice	ment. Pump	DEPTH OF JC	DR 414	•	
25 bhis LS	hut in gemen	+ did Circular	• PUMP TRUCK	K CHARGE 0 -	2 1271	1018.00
	<u> </u>		EXTRA FOOT	AGE //4'		
				50		
					_@	
				egbyents1	@ 1/3.00	113,00
				<u> </u>		
CHARGE TO: T_{\bullet}	hen Oil		 			
	•				TOTAL	157701
STREET	•		_		IOIAL	1577.90
CITV	STATE	71D				
CII I	STATE	ZIP	-	PLUG & FLOAT	EOUIPMEN	T
	,		C 5/c			
			1 (1.20)	Piva	@ / @ 00	1800
			J-WOOLEN	<u> </u>		
					_@	
To Allied Cementi	_					
	quested to rent cem-		•			
and furnish cemen	ter and helper(s) to	assist owner or			_@	
contractor to do w	ork as is listed. The	e above work was				
done to satisfaction	n and supervision o	of owner agent or			TOTAL	68,00
contractor. I have	read and understan	d the "GENERAL				
TERMS AND CO	NDITIONS" listed	on the reverse side	SALES TAX (I	If Any)		
			TOTAL CHAR	GES G		P
	L 0 . L «	11			7.2	
PRINTED NAME_	k Rick S	mith	_ DISCOUNT _		IF PAII	IN 30 DAYS
	n	# .	Cars	The state of the state of	¥	
SIGNATURE <u>X</u>	12 1	m Al	ANY APPI	ICABLE TAX	•	2.
	y y			CHARGED		المراجع المستعدد
				TYPOTOTATO	des miles	1.34

ALLIEL CEMENTING C.J., LLC. 34065

			****		*		
EMIT TO P.O					SERV	VICE POINT:	
//- / /	JSSELL, KA -08	INSAS 676	65			Melicit	relage KS
	SEC.	TWP.	RANGE	CALLED OUT	ONLIGGIETON		
DATE	8 18	27s	16w	400Am	ON LOCATION 6:30 Am	JOB START	JOB FINISH 3:00Pm
LEASEDOUS	WELL#	3-18	LOCATION #4/	ind KS, 5~, 1/8		COUNTY	STATE
OLD OR NEW			Zocinion //Auti	me, w, JN, 18	w Minto	Kiowa	KS
	, 1	#/		·		J	
CONTRACTOR	val			OWNER In	dian Oil		
TYPE OF JOB 1	roductio	-	1				
CASING SIZE	4%	T.D	: <u>4760</u> PTH 4745	_ CEMENT _ AMOUNT ORD	EDED 25%	61.400	11.1 1 1
TUBING SIZE		DEI		225sx	SC + 5# V	See. 1 4 8	1 10 get 9 10 FC 160
DRILL PIPE		DEI		& Egals	_	500gal 1	4SF
TOOL PRES. MAX //	00		TH	-		,	
MEAS. LINE	00		NIMUM — DE JOINT 4//		5 A		231.75
CEMENT LEFT	IN CSG.	11	DE JOHNI 7	_ POZMIX GEL	0	_@_ <u>8,00</u>	80,00
PERFS.				_ CHLORIDE _		_@ <u>20.80</u> 	20.80
DISPLACEMEN	T 7.5 L	361s 29	& KCL Water	ASC 225		@ 18.60	4185.0
	EQU	JIPMENT		Kol Seal		@ <u>.89</u>	1001.25
				Fh-160	105 =	<u>@_/3.30</u>	1396.50
PUMPTRUCK # 352		ER D. F.		ASF 50	8 fo.	@ <u>31.25</u> @ <u>1.27</u>	250.00 635.00
BULK TRUCK	HELPER	MI. Be	chen		,	@	_035.00
#381-314	DRIVER	m. N	all RECEIVED	· an		@	
BULK TRUCK			. 7	U&-		@	
<u>#</u>	DRIVER		MAN.	ANDLING	289	@ @_ 2. 40	693.60
			"CCMI	MILEAGE	10 x 289	¥.10	1445,00
^	REN	MARKS:	Mos			TOTAL	993890
Pipe on BHM,	Break Cin	cc., Pum	p Pactlock, Mix	-			
AJSK GOIAL	cement	to Plugt	at a mouse the	2.2	SERVIC	Œ	
Jump & lines.	Release	Plus S	topPump, was	<i>,</i>	117115		
2% KCL wat	er. Soe	Steady	de de	DEPTH OF JOB PUMP TRUCK O		-	71000
Dump Plug a	7 15 13	6/s to fa	Pisp., Refease	EXTRA FOOTAC		@	2185.00
PSL: Float!	DID NOT /	46/d, S	hutin u/ Boot	MILEAGE		·	350,00
1 11,	·	·		MANIFOLD He	drental	@ 113.00	113.00
						@	
CHARGE TO:	Fadian	n: l				@	
	- 1007	<u> </u>				TOTAI	21 (62 00
STREET						TOTAL	2648,00
CITY	STA	TE	ZIP	./ // pr		~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~	_
				442 PL	UG & FLOAT 1	EQUIPMENT	1
	•			I-TRP		0/0	
				1- Guide Shor		@ 62.00 @ 169.00	62.00
To Allied Cemer	nting Co., L	LC.		1- AFU inse			254.00
You are hereby r	equested to	rent ceme	nting equipment	B- centralia	eecs	@51.00	408.00
and furnish ceme	enter and he	elper(s) to	assist owner or		(@	
contractor to do	work as is l	isted. The	above work was				002
contractor I have	ion and sup	ervision of	owner agent or the "GENERAL"			TOTAL _	893.00
TERMS AND C	ONDITION	understand IS" listed o	on the reverse side.	SALES TAX (If A	nv)		
		A Moicu (n me ieveise side.	TOTAL CHARGE			
RINTED NAME	Anti	ons.				7	
MINITED INAME	11111		arror	DISCOUNT		IF PAID	IN 30 DAYS
IGNATURE	1	// /	\int A	NY APPLICABI	FTAV		
ONALUKE	MA			WILL BE CHAI	SGED		
	$\boldsymbol{\nu}$			TT			



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax: (785) 483-5566

BIII To:

Indian Oil Co., Inc. P O Box 209

Medicine Lodge, KS 67401-0209

INVOICE

Invoice Number: 117117

Invoice Date: Nov 15, 2008

Page:

Customer ID	Well Name# or Gustomer P.O:	Paymen	t Terms
Indian	DAVIS Demis #3-18	Net 30	Days
Job Location	Camp Location	Service Date	, Due Date
KS1	Medicine Lodge	Nov 15, 2008	12/15/08

Quantity	Marie Item	Desc	ription	Unit Price	Amount
15.00	MAT	Class A Common		15.45	231.75
10.00	MAT	Pozmix		8.00	80.00
1.00	MAT	Gel		20.80	20.80
225.00	MAT	ASC Class A		18.60	4,185.00
1,125.00	MAT	Kol seal		0.89	1,001.25
105.00	MAT	FL-160		13.30	1,396.50
8.00	MAT	Cla Pro		31.25	250.00
500.00	MAT	ASF		1.27	635.00
289.00	SER	Handling		2.40	693.60
50.00	SER	Mileage 289 sx @.10 per s	k per mi	28.90	1,445.00
1.00	SER	Production Casing		2,185.00	2,185.00
50.00	SER	Mileage Pump Truck	RECEIVED MAR 1 7 2009 KCC WICHITA	7.00	350.00
1.00	SER	Manifold Head Rental	2 2 2009	113.00	113.00
1.00	EQP	Top Rubber Plug	MVK I I PAGE	62.00	62.00
1.00	EQP	Guide Shoe	- AMCHITA	169.00	169.00
1.00	EQP	AFU Insert	KCC MICH.	254.00	254.00
8.00	EQP	Centralizers	• •	51.00	408.00
ALL PRICES AF	RE NET, PAYABL	E Subtotal			13,479.90

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

Dec 15, 2008

Subtotal	13,479.90
Sales Tax	547.68
Total Invoice Amount	14,027.58
Payment/Credit Applied	
TOTAL	14,027.58